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What is the correct sequence of execution of 1.

Budget? Answer by using the codes given below:
(i) Disbursement of Funds

(ii) Custody of Public Funds

(iii) Assessment and Collection

(iv) Accounting and Audit

Codes:

(A (0), (i), (i), (iv)
B (), (i), (i), (iv)
€ (i), (i), (i), (iv)
@) (i), (iv), (i), (i)

Which one of the following is not the area of 2.

Civil Servants?

(A) Collection of Data

(B) ldentification of problem

(@) Enactment of Law

D) Think-tank of the Government

Which one of the following committees is 3.

not a Standing Committee of the Parliament?
(A) Estimates Committee

(B) Public Accounts Committee

(C) Committee on Public Undertakings
D) None of the above

Which among these committees scrutinizes 4.

in detail the report of Comptroller and Auditor
General of India?

(A) Estimates Committee

(B) Public Accounts Committee

€ Selection Committee for Expenditure
D) None of the above

The report of Public Accounts Committee is 5.

presented to the :

(A) Finance Minister
(B) Prime Minister
©) Lok Sabha

D) President
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6. Public Administration covers all three
branches of the government - Legislative,
Executive and Judicial and their
interrelationship : Who among these did not
support this viewpoint?

(A) L.D. White

(B) Woodrow Wilson
€ Luther Gulick

D) None of the above

7. In its second phase of development
(1927-37) of Public Administration as a
discipline which among the following
principles does not belong to this phase?
(A) POSDCORB
(B) Independent discipline
©) Public Policy Perspectives
D) None of the above

8. Which among these is correctly matched?
(A) F.J. Goodnow : The Study of Public

Administration
(B) Wilson : Politics and
Administration
(©) Luther Gulick : Science of
Administration
D) Henry Fayol : Creative
Experience

9. Who is considered as the father of
Comparative Public Administration?

(A) L.D. White (B) W. Wilson
©) D. Waldo (D) Fred Riggs

10. Which among these is not a hallmark of

development administration?
(A) Goal-oriented

(B) Result-oriented

©) Change-oriented

D) None of the above

10009-C/760

(4)

Tl UM TLhIK B aWl Qe -
faar, FEEd iR =Re iR %
Jiqdey P MT P & ¢ 3H 4

fpe g9 gfteaprer @& T @t fear?
A TIEl. @ES

B) 3 fwEw

© TR Peh

D) IYUE F & &3 T

olieh TSI & faehrd & 370 gt =X’
(1927-37) % s fava & &9 7 Frfeiad

T § PH-a1 e 39 =X § qed
T 77

A) GRS

(B) T ST

C) TSI i 9

OD) ST ¥ § B &

T § BN T8 A *7

A  TEHI. TR ;T &S
A% gt
TeHf s

B) o : Uffeieerd dg
TeHfEs

€ TR IAd 9B T
TeHf s

D) B0 %AW fhafed
TFdIREE

IR Sl SSTE &1 ST fhd A

T 27

A) T3 ®ES (B)S=Y. fawed

C) 3. gawEr (D) %E |

T | P Fema e @ T e o

A)  WF-SHE

B)  URETH-IHE

C)  TEE-IgE

D) SWET A q B T



1.

12.

13.

14.

15.

16.

10009-C/760

In which of the following public and private
administrations are not common?

(A) Filing

(B) Managerial techniques

€ Accounting

D) Scope and complexity

Audit of State Government is :

(A) A State subject

(B) A Union subject

©) In the concurrent list

D) None of the above

'Position classification' is the classification of :
(A) Salaries

(B) Departments

(C) Duties

D) Personal status of incumbents
Who among the following said that "Company
form of public enterprise is a fraud on the
Indian Constitution?

(A) Paul Appleby

(B) Chhagla Commission

(C) Morarjee Desai

D) Ashok Chanda

The District treasury comes under the control
of the :

(A) State Government

(B) District Collector

©) District Treasury Office

D) Chief Secretary

Which one of the following functions is not the
concem of the Local Government in India?
(A) Sanitation

(B) Public health

(C) Maintenance of public order

D) None of the above
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Which among the following is not a standing
committee?

(A) Public Accounts Committee

(B) Ethics Committee

(@) Business Advisory Committee

D) Railway Convention Committee
Which among the following is not true about
the Estimates Committee?

(i) The first Estimates Committee of the
post-independence era was first set
up in 1950.

(ii) It consists of members that are both
from Lok Sabha and Rajya Sabha.

A) Only (i)

B) Only (ii)

C) Both (i) and (ii)

D) Neither (i) nor (ii)

Which of the following is not a staff agency
in India?

(A) Cabinet Secretariat

(B) Cabinet Committee

©) Planning Commission

D) Economic Affairs Department

The sequence of steps or actions to be
taken to enforce a policy and attain a
predetermined objective is called :

(A) Policy (B) Strategy
©) Procedure D) Objective
During which part of the public policy cycle
does the government explore potential
policy responses?

(A) Policy Formulation

(B) Agenda Setting

©) Decision-making

(D)

D Implementation
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Nagar Palika Bill was first introduced

in Parliament during the prime ministership of :

(A) Narsimha Rao

(B) Rajiv Gandhi

©) Chandrashekhar

(D) V.P. Singh

Who consolidates the plans prepared by the

Panchayats and Municipalities in the district?

(A) State Planning Commission

(B) Public Accounts Committee

€ District Planning and Development
Council

D) District Planning Committee

In which one of the following Schedules of

the Constitution of India, is Urban Local Self-

Government mentioned?

(A) Eighth Schedule

(B) Eleventh Schedule

©) Seventh Schedule

D) Twelfth Schedule

Which of the following body remarked that

the 'Block Development Office' should be

spinal cord of the rural development

process?

(A) K. Santhanam Committee

(B) Ashok Mehta Committee

(@) G.V.K. Rao Committee

D)

(
In which part of the Constitution of India,
'Economic and Social Planning' is included?

Balwant Rai Mehta Committee

(A) Union List

(B) State List

©) Eighth Schedule
D) Concurrent List

(7)
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The science of communication and control
is known as :

(A) PERT

(B) Cybernetics
©) Informatics
D) MIS

Who rejected the principles of
administrations and "myths" and "proverbs"?
(A) Henri Fayol

(B) L.D. White

©) Herbert Simon

D) Max Weber

Which of the following is not the function of

staff agency?
(A) Planning
(B) Advising

©) Consultation

D) Achieving goals

Who defined, "civil services as professional
body of officials permanent, paid and
skilled"?

(A) Felix Nigro

(B) Herman Finer

©) Herbert Simon

D) None of the above

Village Panchayat is accountable to :

(A) Panchayat Samiti

(B) Zila Parishad

€ Chairman of the Village Panchayat
D) None of the above

Who among the following is considered as
the father of the local self-government in India?
(A) Mahatma Gandhi

(B) Lord Canning

€ Lord Ripon

D) None of the above
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Who brought out the Incremental Model to

Policy Formulation?

(A) Charles Lindblom

(B) Mossaco

(C) David Easton

D) None of the above

Who said that a good policy formulation

process is one, "which is committed to

producing a high-quality decision not any

particular decision"?

(A) Simon-Kumar

(B) H.M. Moore

©) Fraser

D) None of the above

Which among these is not correctly

matched?

(A) Satish Chandra Civil Services Exam,
Committee, 1988 UPSC

(B) Santhanam Prevention of
Committee, 1964 corruption

(€ Gore Committee,  Parliamentary control
1974 over public

expenditure

(D) L.M. Singhvi Constitutional status
Committee, 1986 for Panchayati Raj

The Union Public Service Commission

submits its annual report to the :

(A) Parliament

(B) Department of Personnel and

Training
(@) Cabinet Secretary
D) President

(9)
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Panchayati Raj is a system of :

(A) Local Government

(B) Local Administration

©) Local self-government

D) Rural local self-government

If Panchayats are dissolved the elections
are to be held within :
(A) One month
€ Six months
The Panchayat Raj Institutions get their funds

(B) Three months
(D) One year

from :

(A) Voluntary contributions
(B) Property tax

(C) Local taxes

D) Government grant
Which Act provided for the reservation seats
for women, Scheduled Castes, and
Scheduled Tribes in the municipality?

(A) 65th Constitutional Amendment Act
(B) 68th Constitutional Amendment Act
(C) 73rd Constitutional Amendment Act
D) 74th Constitutional Amendment Act
In the Constitution of India, economic and
social planning is included in the :

(A) Union List of the VII Schedule

(B) State List of the VII Schedule

©) Concurrent List of the VII Schedule
D) None of the above

The Lokayukta and Uplokayuktas Act was
first passed in :

(A) Maharashtra  (B)
©) West Bengal (D)

Orissa

Kamnataka
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43.  Which among these is correctly paired? 43, 38 § HH-TT LT el 27 U T IS
Select the correct answer from given code: 4 T2l S e
Leonard White Introduction to the 1. | =Re ggleR Sf% W
Study of Public 3 fecTeh
Administration LEEIRIER
2. |W.F. Willoughby | Principles of Public 2 |cg.uw. oo | Diftoe oifw ofc
Administration eI
3. [Herbert A.Simon | The Functions of the 3. |gde uw. @ T G o
Executive TR
(A)  Only1and2 A  Faw 19K 2
(B)  Only2 (B)  ad 2
(C)  Only1 C)  Fad 1
O) 1,2and3 D) 1,238 3
44.  The 'agenda setting' refers to : 44, ‘gSiET AT FT WA B 87
(A)  the development of specific policy (A) TR & A fafree i feenedi
options within government 1 faer
(B)  formal actors in government adopt (B)  HTHR H SNTENReE AN FRERE
a particular course of action 3 U Ay ufkar @& ot ¥
(C)  when a problem is initially sensed (C) S iy AR SR g% F el
by policy actors R A fobr T ®
D) None of the above S | | Eﬁg el
45.  Which theory stipulates that citizen are self- 49 Ea:f o1 e gaa @ [ AT
interested actors whose decisions fulfil their H-gegh AW Bid g e fem
own needs and wants? S el 3] TS Bl qu Y B
(A)  Economic Theory of Democracy (A)  liehc BT SR T
(B) Managerial Theory B) vEgHE RE
(C)  Rational Choice Theory (C)  ThET faehed R
(D) Pluralism Theory D) Fgas fsT
46.  Which of the following agencies is responsible ~ 46. IR A -8 TR IR 3 ToFhE
for formulating the Fiscal Policy in India? iy PR R B fow PreR ¥
(A) Securities and Exchange Board of (A) S IR ;n%piﬁ Ir Rt 92
India (SEBI) (&)
(B) Ministry of Finance, Government of .
india (B)  foT e, ARG R

10009-C/760

€ Reserve Bank of India (RBI)
D) National Bank for Agricultural and
Rural Development (NABARD)

(11)
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Liberalization in new public administration

does not refer to :

(A) Deregulation

(B) Market Regulation

©) Democratization

D) Privatization

Which among these statements are true

about New Public Management?

(i) Recruitment and training of
personnel should be based on
merit and performance.

(i) Managerial decisions should reflect
cost consciousness.

(A)  Only (i)

(B) Only (ii)

©) Both (i) and (ii)

D) Neither (i) nor (ii)

Which among these is wrongly paired.

Choose from the codes given :

(i) Herzberg Y Theory

(i) McGregor Motivation Hygiene
theory

(iii) Maslow Hierarchy of needs
theory

(A) (i) and (ii)

(B) (i) and (iii)

© (i), (ii) and (iii)

D) None of the above

According to NASSCOM, which state among
these is leading in terms of E-governance
in the implementation at different citizen-
Government interfaces?

(A) Uttar Pradesh  (B)  Rajasthan
) Andhra Pradesh (D) Orissa

In which Indian state did the Deptt. of IT, in
association with the local bodies and seven
government department set up an Integrated
Services Centre called FRIENDS?

(A) Tamil Nadu (B) Kerala

(@) Andhra Pradesh (D) Karnataka
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Which one among these is correctly

matched?

(A) F.W. Taylor : Shop Management
(B) M.P. Follett : Onward Industry
€ Henri Fayol : Creative Experience
D) Mooney and : Administrative
Reiley Behaviour

Who among these contributed to human
relations theory of organization?

(A)
(B) Max Weber
©)
D) None of the above

Which of these two statements is true?

Henri Fayol

Elton Mayo

(i) Systems  approach  views
organization as a closed system
whereas classical approach sees

it as an open system.

(ii) The classical approach supports
static while systems approach
supports dynamic interactions in the
organization.

(A)  Only (i)

(B) Only (ii)

©) Both (i) and (i)

D) Neither (i) nor (ii)

Authority is the right to give orders and the

power to exact obedience is said by :

(A) Simon

(B) Weber

(@) Fayol

D) None of the above
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Which of the following will not be considered
as a formal organization?

(A) A Hospital
(B) A University
©) A Group of Friends

D) A Service Industry
Hawthorne studies were mainly conducted

(A) Elton Mayo
(B) Hugo Munsterberg
©) Mary Parker

D) Henry Gantt

Gyandoot (Messenger of Information)
Project, India's most successful
government-to-citizen intranet project, set up
over 30 internet-connected villages in which
Indian state?

(A) Uttar Pradesh

(B) Madhya Pradesh

©) Orissa

D) Bihar

Who delineated four separate types of
political organization : city states, the feudal
state, the bureaucratic state, and the modern
representative state?

(A) Mosca
(B) Hegel
©) Pareto

D) None of the above

Which one of the following leadership styles
was identified by the Michigan University
Leadership Studies as the most effective
leadership style?

(A) Democratic style leadership

(B) Employee-centred leadership

©) Participative group leadership

D) Team leadership
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Who gave the concept of Politics-  61.
Administration dichotomy?
(A) Frank Henry Goodnow
(B) James W. Fesler
©) W. Paul Appleby
D) None of the above
The President of U.S. who laid the foundation ~ 62.
of the study of public administration was :
(A) President Hoover
(B) President Wilson
(@) President Kennedy
D) None of the above
The dominant role in developing Scientific ~ 63.
Management was played by :
(A) Henri Fayol
(B) Harrington Emerson
(C) Frank Gilbreth
D) F.W. Taylor
The Owners, Employees, Board of Directors ~ 64.
and Culture will form the organization's :
(A) Internal Environment
(B) External Environment
(@) Task Environment
D) General Environment
The process by which a manager assigns  65.
some of his total workload to others is :
(A) Decentralization
(B) Division of work
(@) Delegation
D) Centralization
What the study of individuals and groups in  66.
organizations is known as?
(A) Human resource maintenance
(B) The manager's challenge
©) The contingency approach
D) Organizational behaviour
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Personnel function is a :
(A
B
C
(

) Line function

) Staff function

) Can be either line or staff
D) Neither line nor staff

Who formulated the Universal Principles of
organizations which became the classical
or traditional approach of organization?

(A) Gulick and Urwick

(B) Taylor and Henri Fayol

©) Mooney and Reiley

D) None of the above

Hierarchy, career system, fixed rules, continuity
are characteristics of which approach?

(A) Classical

(B) Scientific

(@) Bureaucratic

D) None of the above

Who said that the coordination is the first
principle of organization?

(A) Luther Gulick

(B) J.D. Mooney

© L.D. White

D) Herbert Simon

Who has identified four bases - Purpose
(functions), Process, People (clientele) and
Place. - commonly known as 4Ps on bases
of which work and departments may be
divided?

(A) Henri Fayol

(B) L.D. White

(@) Luther Gulick

D) None of the above
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The history of Public Administration is
divided into :

(A) Four Phases

(B) Six Phases

(@) Five Phases

D) None of the above

Which of the following is not one of the core
values of Public Administration?

(A) Equity

(B) Efficiency

©) Effectiveness
D) Bureaucracy

Public Administration relates to the activities
carried out by :

(A) Government

(B) Public corporations
(©) Bureaucracy

(D) All of the above

"Administration is the organization and use
of men and materials to accomplish a
purpose.” Who said this?

(A) Nigro
(B) White
€ Simon

D) None of the above

Administration sets the goal; management
strives to attain it and who assists
management to attain these goals?

(A) Government
(B) Police

(C) Organization
D) People
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Which among these is not true about New
Public Administration?

(A) It has market orientation

(B) It upholds public interest

©) It supports managerial autonomy
D) None of the above

Simon proposed a new concept of
administration using the methodology of :
(A) Bounded rationality

(B) Decision-making

(C) Logical Positivism

D) None of the above

The bureaucracy has been defined as a
system of administration characterized by
expertness, impartiality and absence of
humanity, who defined this?

(A) H.J. Laski

(B) Max Weber

(@) Herbert Morrison

D) None of the above

The principle of unity of command implies :

(A) Command be equally distributed
among horizontal line

(B) In union there is strength

©) Employees should receive orders
from one superior only

D) None of the above

Which of the statements given below

regarding decision-making is false?

(A) It is a continuous process

(B) It implies a choice

(@) Decision-making is identical with
problem-solving

D) None of the above
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Bureaucracy thatis committed to the programmes
of the political party in power is called :

(A) Depoliticised bureaucracy

(B) Semi-politicised bureaucracy

(C) Committed bureaucracy

D) None of the above

Who was a supporter of the bureau system
which Germany had adopted after 18067
(A) Hegel

(B) Mosca

(@) Weber

D) None of the above

Administrative accountability is established
in government organizations by :

(A) Executive
(B) Legislature
©) Judiciary

D) All of the above

Formal relationship in an organization is
based on :

(A) Friendship

(B) Rules and regulations

(©) Peer groups

D) Authority on subordinates

The Ideal Model of bureaucracy is based
on authority of :

(A) Tradition
(B) Charisma
©) Legal rational

D) None of the above
Which of the following is one of the features
of bureaucracy conceived by Max Weber?

(A) Authority
(B) Hierarchy
(C) Civil society

D) None of the above
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Which of the following scholars has/have not

laid any marked emphasis on administrative

ethics?

(A) Paul Appleby

(B) Chanakya

©) Frederick Mosher

D) None of the above

Which one of the following statements is

correct about the powers of the Parliament

of India in enacting the budget?

(A) It can increase a tax, but not reduce
it

(B) It can increase a tax as well as
reduce or abolish it

©) It cannot increase a tax but can
reduce or abolish it

D) It can neither increase a tax nor
reduce it

Which one of the following thinkers was first

to talk about the concept of 'Constructive

Conflict' in an organization?

(A) Elton Mayo

(B) Mary Parker Follett

©) Peter Blau

D) Henri Fayol

The legacy of British rule in India includes

which of the following?

(i) Creation of the ICS (Indian Civil
Services)

(ii) Secretariat System

(iii) Local Self-government

(iv) Law and Order Administration

(A) (i) and (ii)

(B) (ii) and (iii)
©) (i), (iii) and (iv)
(D) All of the above
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Who among these does not support the  92.

integral view of administration?

(A) Henri Fayol

(B) L.D. White

©) Luther Gulick

D) None of the above

In the POSDCORB, what does the letter D 93.

denote?

(A) Department

(B) Diligence

€ Demanding

D) Directing

Which among the two statements is true? 94.

(i) Public Administration is bureaucratic
whereas private administration is
business like.

(ii) Public administration is non-political,
while private administration is
political.

(A)  Only (i)

(B) Only (ii)

€ Both (i) and (ii)

D) Neither (i) nor (ii)

What among these is not one of the features ~ 95.

of Public Administration?

(A) Public gaze

(B) Public accountability

(9] Profit motive

D) None of the above

Who is considered as the father of Human ~ 96.

Relations theory in administration?

(A) E.N. Gladden

(B) Elton Mayo

©) L. Urwick

D) None of the above
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Consider the following statements : Public-

private distinction in public administration is

currently losing much of its original rigidity

due to :

(i) Contemporary acceptance of
neoliberal ideology.

(ii) Trend towards outsourcing in recent
times.

Which of the statements given above is/are

correct?

(A) (i) only

(B) (ii) only

©) Both (i) and (ii)

D) Neither (i) nor (ii)

"We are no longer confronted with several

Administrative Sciences, but with one which

can be applied equally well to public and

private affairs." Who said this?

(A) Frederick Taylor
(B) L. Urwick
(C) Frank Goodnow

D) Henri Fayol

The 'Line and Staff' form of organization first
originated in which one of the following?
(A) Educational Administration

(B) Municipal Administration

©) Military Administration

D) Public Administration

Which one of the following was not
supported by F.W. Taylor?

(A) Standardization of work

(B) Efficiency experts

(@) Doctrine of the economic man

D) Functionalisation
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